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QUESTION 1

Which feature allows a vSphere administrator to reduce power consumption on a cluster? 

A. WOL 

B. BMC 

C. DPM 

D. DNS 

Correct Answer: C 

 

QUESTION 2

A vSphere administrator has disabled Fault Tolerance on a powered-off VM. 

What could cause the VM to fail to power back on? 

A. insufficient CPU resources 

B. VM shares 

C. VM limits 

D. Insufficient memory resources 

Correct Answer: D 

 

QUESTION 3

A vSphere administrator needs to quickly move a critical VM from an AMD-cluster to an Intel-cluster. How can the
vSphere administrator move the VM? 

A. vSphere Storage vMotion 

B. vSphere encrypted vMotion 

C. vSphere vMotion 

D. Cold Migration 

Correct Answer: D 

 

QUESTION 4

A customer is experiencing a network performance problem and is using the esxtop utility to determine the 

Latest 2V0-21.19D Dumps | 2V0-21.19D Practice Test | 2V0-21.19D Exam Questions                                2 / 3

https://www.geekcert.com/2v0-21-19d.html
https://www.geekcert.com/2v0-21-19d.html
https://www.geekcert.com/2v0-21-19d.html


https://www.geekcert.com/2v0-21-19d.html
2024 Latest geekcert 2V0-21.19D PDF and VCE dumps Download

cause. Esxtop reveals no dropped packets. 

Which two conditions should the customer check? (Choose two.) 

A. packet size 

B. data receive rate 

C. IPv6 support 

D. CPU contention 

Correct Answer: BD 

 

QUESTION 5

What is required for host attestation to secure the hypervisor? 

A. VM encryption 

B. CHAP 

C. TPM 2.0 chip 

D. KMS server 

Correct Answer: C 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.security.doc/GUID10F7022C-
DBE1-47A2-BD86-3840C6955057.html 
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